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M.Sc. (Part – I) (Semester – II) Examination, 2015
MICROBIOLOGY (Paper – V) (CGPA)

Microbial Genetics

Day and Date : Tuesday, 17-11-2015 Max. Marks : 70
Time : 10.30 a.m. to 1.00 p.m.

N.B. : 1) Part – I question 1 is compulsory.
2) Attempt any four questions from Part – II
3) Figures to the right indicate full marks.
4) Answer to the two Parts should be written in the same

answer book.

PART – I

1. Rewrite the sentences after choosing the correct answer from the given
alternatives. 14

1) The unit of DNA in which an individual act of replication occurs is called the

a) Replicon

b) Origin

c) Transcription unit

d) Operon

2) Triplet UAG is called as

a) Opal

b) Amber

c) Ochre

d) Opine

3) __________ factor places initiator tRNA at P site of the ribosome.

a) EF – Tu

b) IF – 2

c) IF – 3

d) EF – Ts

Seat
No.
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4) _________ enzyme functions as replicase in E. coli.

a)  Polymerase I

b) Polymerase II

c) Polymerase III

d) Polymerase IV

5) Synthesis of RNA primers for DNA chain elongation is carried out by

a) RNA polymerase

b) RNA primase

c) DNA polymerase

d) RNA transcriptase

6) Overlapping genes are found in

a) ∅X 174

b) E. coli

c) T4 bacteriophage

d) MS2

7. DNA sequences containing transposase gene flanked by inverted repeats are
called

a) IS elements

b) Simple transposons

c) Composite transposons

d) Bacteriophage elements

8) DNA replication by semiconservative mode in E. coli was experimentally

proved by

a) Watson and Crick

b) Meselson and Stahl

c) Zinder and Lederberg

d) Delbruck and Delbruck
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9) Model for replicative transposition was proposed by

a) McClintock

b) Shapiro

c) Luria

d) Dupra

10) E. coli polynucleotide ligase requires __________ for its activity.

a) FAD

b) FMN

c) NAD

d) NADP

11) Transposon Tn5 carries gene for _________ resistance.

a) Kanamycin

b) Ampicillin

c) Penicillin

d) Chloramphenicol

12) Helix unwinding during replication is accomplished by

a) DNA helicases

b) DNA gyrase

c) DNA polymerase I

d) DNA polymerase II

13) Jumping genes were discover by

a) Barbara McClintock

b) Beadle and Tatum

c) Lederberg

d) Delbruck

14) Removal of thymine dimmers is carried out by

a) DNA polymerase I

b) DNA polymerase II

c) DNA polymerase III

d) Exonuclease
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PART – II

2. What is genetic complementation ? Explain in detail intergenic and intragenic
complementation and add a note on citrons test of genetic function. 14

3. Describe in detail detection, purification, amplification and rearrangement of
plasmids. 14

4. Explain experiments performed to prove that, DNA is genetic material in bacteria
and viruses. 14

5. Attempt any two of the following. 14

a) Explain the techniquies and applications of DNA foot printing and DNA finger
printing.

b) Discuss the rolling circle model of DNA replication.

c) Describe operon model with reference to arabinose operon.

6. Attempt any two of the following. 14

a) Post transcriptional processing in Prokaryotes

b) RFLP

c) SOS repair.

__________________
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M.Sc. – I (Semester – II) (CGPA) Examination, 2015
MICROBIOLOGY (Paper – VI)

Microbial Physiology and Metabolism

Day and Date : Thursday, 19-11-2015 Max. Marks : 70

Time : 10.30 a.m. to 1.00 p.m.

N.B. :  1) Section I is compulsory.
2) From Section II attempt any four.
3) All questions carry equal marks.
4) Figures to the right indicate full marks.
5) Draw neat and labelled diagrams.

SECTION – I

1. Rewrite the following sentences by using correct alternatives. 14

1) _________ is considered as ancestor of mitochondria.

a) R. Prowazekii b) Nocardia
c) Ureaplasma d) Chlymydea

2) ________ phosphate molecules are taken up for flavin linked electron transport
chain.

a) 2 b) 3 c) 4 d) 5

3) Dioxygenases are involved in oxidation of

a) aromatic amino acids b) aliphatic hydrocarbons
c) aromatic hydrocarbons d) aliphatic amino acids

4) Major mechanism of fatty acid oxidation is _______ oxidation.

a) Alpha b) Beta c) Omega d) Delta

5) Iron porphyrin groups are present in structure of

a) Chlorophyll b) Carotenoids

c) Inter lenkins d) Cytochromes

Seat
No.
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6) One gram carbohydrates releases ____________ kilocalories of heat on

degradation.

a) – 4.5 b) + 4.5 c) – 4.9 d) + 4.9

7) When fats are added in water they are converted into droplets and get

dispersed, the process is called

a) Hydrolysis b) Saponification

c) Rancidity d) Emulsification

8) The enzyme catalyzing exchange of Na+ and K+ is called

a) Na+, K+ permease b) Na+, K+ transferase

c) Na+, K+ Atpase d) Na+, K+ phosphatase

9) Phosphotransferase also regulate ________ enzyme.

a) Adenylate cyclase b) Adenylate acylase

c) Adenylate kinase d) Adenylate reductase

10) Cytochrome oxidase is nothing but

a) Cytochrome c1 c2 b) Cytochrome b c

c) Cytochrome c2 c3 d) Cytochrome a a3

11) Mitochondrial electron transport system is

a) Linear b) Branched

c) Three dimensional d) Two dimensional

12) _________ enzyme involved in conversion of nucleosides to nucleotides.

a) Nucleoside oxidase b) Nucleoside kinase

c) Nucleoside reductase d) Nucleoside transferase

13) _________ contain isoprenoid units.

a) Cytochrome a b) Cytochrome b

c) Coenzyme d) Ubiquinone

14) Phycobilins are only present in red alga with exception of

a) Cyanobacteria b) Corynebacteria

c) Clostridia d) Citrobacter
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SECTION – II

Attempt any four of the following :

2. Write an essay on biosynthesis of saturated fatty acids. 14

3. Write in detail degradation of aromatic hydro carbons. 14

4. Write an essay on photosynthetic and nonphotosynthetic electron transport chain. 14

5. Give an account of Denovo synthesis of pyrimidines. 14

6. Attempt any two of the following. 14

i) Write short note on drug metabolism.

ii) Active transport.

iii) Theories of ATP formation.

7. Answer any two of the following : 14

i) Write note on gentisate pathway.

ii) Simple and facilitated diffusion.

iii) Omega oxidation.

————————
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SLR-MM – 466

Seat
No.

M.Sc. – II (Semester – III) (C.G.P.A.) Examination, 2015
MICROBIOLOGY

Paper – X : Health Care and Diagnostic Microbiology

Day and Date : Wednesday, 18-11-2015 Max. Marks : 70
Time : 2.30 p.m. to 5.00 p.m.

Instructions : 1) Part – I, Question 1 is compulsory.
2) Attempt any four (4) questions from Part – II.
3) Figures to right indicate full marks.
4) Answer to Part – I and Part – II are to be written in same

answer booklet only.

PART – I

1. Rewrite the sentences after choosing the correct answer from the given
alternatives : 14

i) Which of the following bacteria toxin bind to the nerve cells, preventing
chemical communication between nerve and muscle cells ?
a) Diphtheria toxin
b) Botulinum toxin
c) Escherichia coli endotoxin
d) Erythrogenic toxin

ii) Which of the following antibiotic DO NOT affect protein synthesis ?
a) Actinomycin D b) Chloramphenicol
c) Streptomycin d) Tetracycline

iii) Which of the following is NOT true for exotoxins ?
a) The exotoxins can work by binding and entering the host cell
b) They can cause toxaemia
c) They rarely have enzymatic activity
d) They can be converted to toxoids

iv) Penicillin inhibits ___________ synthesis.
a) Protein b) Cell wall
c) membrane d) DNA
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v) Scientist who discovered Streptomycin was ___________
a) Flemming b) Walksman
c) Benet d) Burnet

vi) Which of the following enzyme is used in Enzyme linked immunoabsorbant
assay ?
a) Protease b) Lipase
c) Amylase d) Peroxidase

vii) Endotoxins have relatively __________  potency.
a) Low b) High
c) Same d) No

viii) Endotoxins are part of the outer membrane of the cell wall of ____________
a) Gram positive bacteria b) Gram negative bacteria
c) Actinomycetes d) Fungi

ix) Adenylate cyclise toxin is produced by _________
a) Vibrio cholarae
b) Bordutella pertussis
c) Chlostrium tetani
d) Corynebacterium diphtheriae

x) Which of the following bacterium produce neurotoxin which is A-B toxin cause
flaccid paralysis ?
a) C. diphtheriae b) C. tetani
c) V. choleriae d) S. aureus

xi) Exotoxins are typically _________
a) Carbohydrates b) Proteins
c) Lipids d) Sugars

xii) Which of the following is NOT a semisynthetic chemotherapeutic agent ?
a) Ampicillin b) Penicillin
c) Carbenicillin d) Trimethoprim

xiii) Gentamicin is an antibiotic produced by_________
a) Micromonospora b) Penicillium
c) Streptoverticillium d) Streptomyces

xiv) _________  acts as folic acid intermediate antagonists.
a) Trimethoprim b) Sulphonamides
c) Both (a) and (b) d) None of these
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PART – II

Attempt any four (4) questions from Part – II.

2. Write in detail on “Mechanism of action of Penicillin and Bacitracin”. 14

3. Write in detail on “Detection of antibody antigen reaction”. 14

4. Write essay on “Immunohistochemistry (IHC)”. 14

5. Write in short on any two of the following : 14

a) Beta lactamase, Extended Spectrum Beta Lactamase (ESBL), Carbapenase

Enzymes causing antibiotic resistance in bacteria.

b) Florescence in Situ Hybridizaiton (FISH).

c) Adhesion and invasion.

6. Write short notes on any two of the following : 14

a) Microbial toxins.

b) Antibiotic sensitivity testing by disc method.

c) Polymerase chain reaction.

_____________________
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Seat
No.

M.Sc. – II (Semester – III) (C.G.P.A.) Examination, 2015
MICROBIOLOGY

Bioprocess Technology and Fermentation Technology (Paper – XI)

Day and Date : Friday, 20-11-2015 Max. Marks : 70
Time : 2.30 p.m. to 5.00 p.m.

N.B. : 1) Part – I, Q. 1 is compulsory.
2) Attempt any four questions from Part – II.
3) Figures to the right indicate full marks.
4) Answers to the two Parts should be written in the same

answerbook.

PART – I

1. Rewrite the following sentences by selecting correct answers from given
alternatives. 14

i) Brownian motion is related with __________

a) Impation b) Diffusion

c) Precipitation d) Crystallization

ii) __________ is a sensitive analytical tool which converts biological signals
into electrical signals.

a) Biosensor b) Bioprocess

c) Bioproduct d) Bioengineering

iii) __________ is a right granted by Govt. to an inventor.

a) Copyright b) Destruction

c) Patent d) None of these

iv) Distillation is used for recovery of __________

a) Penicillin b) Vit. B12

c) Amylase d) Ethanol

v) Allergy testing of product is carried out on _________

a) Mice b) Cat c) Rabbit d) Guinea pig
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vi) Molasses is a waste from _________ industry.

a) Dairy b) Tannery

c) Minery d) Sugar

vii) ________ is a test organism used for penicillin bioassay.

a) S. aureus b) E. coli

c) Shigella d) Vibrio

viii) Crowded plate technique is used for screening of ________ producers.

a) Antibiotic b) Amylase

c) Vit. B12 d) Ethanol

ix) Vortex formation in fermentor is decreased by ________

a) Spargers b) Aerators

c) Baffles d) Biosensors

x) Genetic engineering is used for strain _________

a) Preservation b) Sterilization

c) Cultivation d) Improvement

xi) __________ is used for streptomycin production.

a) Str. griseus

b) Asp. niger

c) Pen. chrysogerum

d) B. amylolyticus

xii) Lab scale fermentor have __________ litre capacity.

a) 1 – 5 b) 100 – 200

c) 500 – 700 d) 1000 – 5000

xiii) _________ is an example of edible mushroom.

a) A. niger

b) Agaricus bisporus

c) Rhizobium

d) None of these

xiv) _________ is used for production of L-lysine.

a) Cory. diphtheria b) Cory. glutamicum

c) Asp. niger d) Str. griseus
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PART – II

Attempt any four questions :

2. Explain in detail quality control in fermentation industry. 14

3. Describe in detail bioreactor design and operation. 14

4. Describe in detail various raw materials used for designing fermentation media

and media sterilization. 14

5. Describe in brief any two : 14

i) Bioethics

ii) Streptomycin fermentation

iii) Product recovery.

6. Write short notes on any two : 14

i) Mushroom production

ii) Environmental and genetic control of metabolic pathways

iii) Whisky production.

_____________________
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 M.Sc. – II (Semester – III)  (C.G.P.A.) Examination, 2015
MICROBIOLOGY (Paper –XII)
Food and Dairy Microbiology

Day and Date : Monday, 23-11-2015 Max. Marks : 70
Time : 2.30 p.m. to 5.00 p.m.

       N.B. : I) Part I question 1 is compulsory.
II) Attempt any four questions from Part II.
III) Figures to the right indicate full marks.
IV) Answers to the two Parts should be written in the same

answer book.

PART – I

1. Rewrite the following sentences by selecting the correct answer from given
alternatives. 14

i) Discolouration of cheese is caused by

a) Aspergillus niger b) Penicillium roqueforti

c) Penicillium camemberti d) E.coli

ii) Dahi provides an unfavourable medium for the proliferation of pathogens due
to __________ environment.

a) alkaline b) acidic

c) salty d) neutral

iii) Food poisoning from Khoa is due to heat stable toxin produced by

a) Enterobacter b) Streptococcus lactis

c) S.aureus d) Salmonella

iv) Acetaldehyde is the major flavour compound in

a) Cheese b) Kumiss

c) Kefir d) Yoghurt

v) The toxins produced by clostridium botulinum affect ________ of human body.

a) Respiratory system b) Nervous system

c) Reproductive system d) Digestive system

P.T.O.

Seat
No.



SLR-MM – 468 -2- ��������	�

vi) __________ constitute more than 98% of the milk fat.

a) Diglycerides b) Phospholipids

c) Triglycerides d) Cholesterol

vii) Milk serum is milk plasma minus

a) casein micelles b) water

c) calcium d) lactose

viii) _________ discolouration in both cream and butter is caused by Pseudomonas
nigrifaciens.

a) Brown b) Black

c) Yellow d) Blue

ix) Streptococcus lactis sub. sp. diacetylactis is a starter of choice in
______making as it produces both acid and flavour.

a) cheese b) butter

c) kefir d) curd

x) Homogenization ________ the bacterial count of ice-cream mix.

a) increases b) maintain

c) decreases d) reduces

xi) The therapeutic potential of fermented milk product was first suggested by

a) Metchnikoff b) Pasteur

c) Koch d) Alexander

xii) ________ is the acid alcohol fermented milk product.

a) Srikhand b) Kumiss

c) Yoghurt d) Bulgarian sour milk

xiii) The late blowing in processed cheese is due to

a) Penicillium b) Leuconostoc

c) Clostridia d) Pseudomonas

xiv) ________ is the high acid fermented milk product.

a) Yoghurt b) Cultured butter milk

c) Kefir d) Bulgarian sour milk
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PART – II

Attempt any four questions :

2. Write an essay on microbiological examination of milk. 14

3. What is food preservation ? Explain preservation of foods by drying. 14

4. Write an essay on bacterial food born infections. 14

5. Describe in brief (any two) : 14

a) Food preservation by use of irradiation.

b) Swiss cheese.

c) Chemical changes caused by micro-organisms during spoilage of food.

6. Write short notes on (any two) : 14

a) Concept of water activity.

b) Ropiness

c) Application of ultraviolet light in food industry.

_______________
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